Chapter -3

dgcich
MODE

agﬁwdh‘ Wy (Multiple Choice Questions)

W&t fashcu &1 @ T (Choose the correct option)

1.

afy famuraufra g at Frefafea § A S A-ar waT /e e ?
(If the distribution is symmetrical, which of the
following statement is true?)

(a) Mean = Median = Mode

(b) Mean < Median < Mode

(c) Mean > Median > Mode

(d) Mean < Median > Mode

fret sifwsl @ wgeten Fd WA
(Find the mode from following data):
2,4,6,5,3,7,6,8,5,6,7,3,1

(a) 4 (b) 5
(o) 6 @ 7
Theh o Ta 37T ST 37 aTeT U &

(The most frequent observation of the data is):
(a) wfemaRt (Median)

(b) wrem (Mean)

(c) =g (Mode)

(d) =7 =t (All of these)

frerifera ¥ A W wT B ?
(Which of the following is true ?)—
(a) WA = 3 HIfeART - 2 TgAR
(Mean = 3 Median - 2 Mode)
(b) wiftet = 3 9ga® - 2 WEA
(Median=3 Mode - 2 Mean)
(c) dwgctsh = 3 Hifeent — 2 7
(Mode = 3 Median - 2 Mean)
(d) wgh = WiEA + HIfEAehT
(Mode = Mean + Median)

Ifg wreT 31.25 AT WRERT 31.5 2, A SEA® B

(If mean is 31.25 and median is 31.5, the mode is) :

(a) 42 (b) 32
() 25 (d) 33
T 3t W agew A W

(Find the mode from following data):
3,4,6,3,7,5,4,8,7,5,9,5,6

(a) 4 b) 7
() 5 @ 3

10.

11.

12.

ferelt <t ¢ wifegenta 9ot & fog fret ot & & fem
T T Uk ¥ 3Tfereh godr &1 ekl 87

(For any given statistical series which of the following
measures many have more than one value ?) -

(a) w1 (Mean)

(b) =E=® (Mode)

(c) Rt (Median)

(d) TR WA (Geometric Mean)

gt v & WO W -t fafr e gt @ wel
w0 guTfaa 2t §

(Which of the following measure of central tendency
is least affected by extreme values):

(a) =g (Mode)

(a) T ( Median)

(c) wrem (Mean)

(d) 3 =d (All of these)

0, 15, 18, 19, 20, 22, 25, 0, 4 T SEAR &-

(Mode of 0, 15, 18, 19, 20, 22, 25,0, 4 is ):

(a) 20 (b) 0

(c) 18 (d) 22

25, 22, 15, 23, 21, 25, 17, 17, 19, 19, 20, 25 & g1h

(Mode of 25, 22, 15, 23, 21, 25, 17, 17, 19, 19, 20, 25 is):
(a) 18 (b) 21
(c) 19 (d) 25

60, 70, 10, 35, 45, 30, 30, 20, 20, 30 <hT SgTh -
(Mode of 60, 70, 10, 35, 45, 30, 30, 20, 20, 30 is ):

(a) 30 (b) 70

(c) 60 (d 10

Teh WTEMUT AT S § HIed 32 § a9 Hifeaent 38
¥ O SgeTeh T U BIT-

(In a moderately asymmetric distribution arithmetic

mean is 32 and median is 38 then value of mode will
be:)

(a) 36 (c) 38
(b) 35 (d) T ®E 7 (None of
these)
ANSWER

1.(a)2.(c)3.(c)4.(c)5.(b)6.(c) 7. (b)

8.(a) 9. (b) 10. (d) 11. (a) 12. (d)



arfa (L ELRIRICRE] (Very Short Answer Type Question)

Trafafaa gt & a9g &1 Jgas J| i
(Find the mode of the following sets of number);
5,7,6,9,8,6,7,8,9,3,7,5,7,4

afueh 9 @1 B, o1: sgers (mode) = 7

Trafafeas wost ¥ agas a6 &
(Find the mode from the following data)

S (series) 1 TR0 H W a1 Hern € R z@H 7

(size) 3 4 5 6 7 8 9
1 1 2 2 4 2 2
(frequency

ABR (size) 7 Go® &gl WS € eHFifm THHRI MG

(Frequency) T S1€1 4 €, 31: 9gesh (mode)=7
Ans. mode (z)=7

fTrafafaa Sl &t 9@ § 9gas TRR ATd hifa-

From the following number of shoes, find out the

modal size : 2,4,6,5,3,7,6,8,5,6,7,3,1

afueh 9 &1 B, o1: sgersh (mode) = 6
Ans. mode (z) =6
Trafafea gt = agew Ja Fwiae-

(Find out the mode of the following series):

S (series) 1 TR0 HE W a1 Fern € TR 3@ 6

3 1800 | 2200 | 2400 | 2500 | 2550 | 2700
(monthly wages)

: w 7 25 45 65 30 12
(no of workers)

S 65 B1 31d: sga® (mode) = 2500
Ans. mode(z) = 2500
T wroft w6t Sgeres A i -

(Find mode of the following data 25,20,35,10,22,26,2

2,24,25,27,30,35,41,35,38,40,35,27)

=35
Ans. 9gcsh (mode) =35

ST (series)d 2500 T ME (frequency) Ha¥ e

U (series) &1 TI&T0T (observation) % W Ual <eidl
2 T 3ow 35 Ge@ aifush 9R o141 ©1 ord: sga® (mode)

g ELLEREE] (Short Answer Type Question)

afg @ (X)X wifesraRt (M) W sh|9T: 25 i 26

¥, SEeTh T WM FTA ShITWT -

(If value of mean (X¥) and median (m) are 25 and 26

respectivaly, find the value of mode)

mean ()?)= 25

median (m)= 26

mode (z) =7?
mode (z) =3m-2X
=3%x26-2x%x25
=78-50
=28
Ans. mode (z) = 28
afy wrfement (X) o1 o 40 2 i sEeres (z) 36 €,
TIfEETeRT ST UM AT iUl

(If the value of mean (.Y) is 40 and mode (z) = 36. find
the value of median )

mean ( )?) =40
mode (z) =36
median (m) =?

z =3m-2(X)
36 =3m-2 X 40

36 =3m-80

3m =116
116
E)
=38.67

median (m) = 38.67

T emfua faavur § sgeteh o1 WM 36 9T WifewT
T UM 32 ¥1 WY T UM {14 HITg

(In an asymmetrical distribution, the value of mode
is 36 and value of median is 32. find the value of
mean.)

mode (z) =36
median (m) =32
mean (X) =?
z =3m -2 (X)
36 =3x32-2(X)
6 =96-2(X)
2(%)  =96-36
= 60
x) ==
=30
mean ()?) =30

Fr=r 9ot @ wren, wfemeRT iR sgew A9 H -

(Find mean, median and mode from the following
series ): 8,12, 15, 19, 35, 21

mean ()?) = 8+12+15+19+35+21
6
_ 110
6
=18.33
Ans. mean ()?) =18.33



th
median (m) = (I%l) item

6+1 th.

= 2— item

= 3.5%jtem

3 jtem = 4 item
2

15+19

median (m)= 17
mode (z) 3m-2(X)

3x17-2x18.33
51 - 36.66

14.34

14.34

mode (z)

Trafafen St &1 agee J@ wi

(Find the mode of the following series)

e T & TE
(wages) (no of workers)
0-10 6
10-20 10
20-30 10
30-40 16
40-50 12
50-60 8

Fiteror fafer g0 (by inspection method)

wages (class) frequency (f)
0-10 6
10-20 10
20-30 10 fO
30-40 16 f1
40-50 1212
50-60 8
N =62
Highest frequency =16
mode class =30-40
11=30, fo=10, f1=16, f2=12,i =10
f1- 12 .
mode (z) +(2f1—f0—f2]”
2x16—-10-12
32-22
= 30+@
10
=30+6
=36
Ans. mode (z) =36

< 3T e (Long answer type questions)

=1 goew @ g F9 -
(Find out mode of the following data:)
Eni (class) | 30-40 |40-50| 50-60 |60-70|70-80| 80-90
50 42 32 14 10 2
(frequency)
fiteror fafer g0 (by inspection method):
class frequency
30-40 50 f1
40-50 422
50-60 32
60-70 14
70-80 10
80-90 2
N =150
highest frequency =50
mode class =30-40
o4,
11=30, £0=0, f1=50, f2=42,i=10
mode (z) N A S A
2/1-f0-12
=30+ [&j x10
2x50-0-42
500
=30+
100—-42
=30+ 200
58
=30+ 8.62
=38.62
Ans. mode (z) =38.62
T otfergl W ageeh i UM -
(Calculation mode from the following data)
=
(mid value) 3 9 15 21 27 33
12 24 38 52 34 19
(frequency

fréteror fafer g1 (by inspection method)

class frequency
0-6 12
6-12 24
12-18 38 f0
18-24 52 f1
24-30 3412
30-36 19
N =179
highest frequency =52
mode class =18-24

A,




11=18, f0=38, f1=52, f2=34,i=6
=11+(M}
2f1-f0- /2

( 52-38 )
+| ——— |x6
2x52-38-34
14x6
+
(104—72)
84

= +_
1875

mode (z)

=18 +2.63

=20.63
Ans. mode (z) =20.63
= dushi | sgee 99 W -

(Find the mode of the following series)

. 0-10 | 10-20 | 20-30 | 30-40 | 40-50
(wages in )

50-60

Q. - 6 10 10 16 12
(no of labour

HEa fafe ( Grouping method)

T fafyr ( Grouping method)

class f grm;gé(r)lg in grouping in three | analysis table
1 2 3 4 5 6 7 8
0-10 6 ] 6 - R - - - -
10-20 | 10 R - I 1
20-30 | 10f; :| = 36 III 3
26 -
30-40 | 16, 38 | THI | 6
28
40-50 | 12f, :| 36 1T 3
20
50-60 8 - I 1
highest frequncy =16
mode class =30-40
3« (now),
11=30, f0=10, f1=16, f2=12,i=10
= /1+ ﬂ i
2f1-f0-12
=30 __ 16210 x10
2x16-10—-12
6x10
+
32-22
=30+ 60
10
=30+6
=36
Ans. mode (z) =36
frafafaa amwsr ¥ agew F19 wi-
(Calculate mode from the following table):
size 0-10 |10-20| 20-30 | 30-40 | 40-50 | 50-60 | 60-70
frequnency | 5 7 19 18 16 10 5

class f grott}‘)s(r)lg in grouping in three | analysis table
1 2 3 4 5 6 7 8
0-10 | 5 - h - E - -
] 12
10-2 31 M - I 1
0-20 7 :|26
20-30 | 19f, ] - 44 11 3
37
30-40 | 181, M - J53 | 5
34
40-50 | 16f, ] 44 111 3
] 26
50-60 10 H 31 1 1
] 15
60-70 | 5 -
highest frequency =18
mode class =30-40
3 (now)

11=30,£0=19, f1=18, f2=16,i=10

if f or f, more than f, then in this case we should
follow the following formula of mode :

11[ 12 ji
_oe 2

=30+ 16 x10
19+16

= 30+@
35

=30+ 4.57

= 34.57
Ans. mode (z) =34.57
frraferfen smafa faawor & sgeren @t TorT &Y -
(Calculate mode from the following frequency
distribution)

marks less than| 10 20 30 40 50
no of student 3 8 17 20 22

mode

frdero fafer g0 (by inspection method)

class frequency (f)
0-10 3
10-20 8-3 = 5
20-30 17-8 = 9f]
30-40 20-17 = 3f2
40-50 22-20=2

highest frequency =9

mode class =20-30

3 (now),

11=20,70=5,f1=9, f2=3,i=10

f1-/0 ),
Mode (2)= “*(mj’

—20+| —2=5 _|x10
2x9 —5-3

- 20+(4X10jx10
18-8

= 20+ﬂ
10
=20+4
=24
Ans. mode (z) =24
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